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[2KE50 HHERT e +7E A
R 1491 FHh 13 ERIFRTH 1 % 6 2
AR 1491 FHh 288 TSR _TH 1 %®% 1 2
R 1491 FHih 289 ERFETH O O1LE 4 =
AR 1491 FHh 290 TSR _-TH 2 % 3 2
R 1491 FHih 291 ERFETH 2 & 5 =
AR 1491 FHh 292 TSR _-TH 2% 6 2
R 1491 FHih 293 ERFERTH 2 & T =
AR 1491 FHh 294 TSR _-TH 2 % 8 2
R 1491 FHih 295 ERFETH 2 & 9 =
AR 1491 FHh 296 FRFHE-TH 2 % 11 =
R 1491 FHh 297 FRIFR-TH 2 %F 13 2
AR 1491 FHh 298 FRFER_-TH 2 % 15 =
T 1491 FHh 299 ERIFRTH 2 % 16 2
AR 1491 FHh 300 FRFHR_-TH 2 & 17 =
R 1491 FHh 301 FRIFRTH 2 % 18 2
AR 1491 FHh 302 FRFHE-TH 2 % 19 =
R 1491 FHiHh 303 ERFETH 2 &1 =
AR 1491 FHh 304 TSR _-TH 1% 5 2
R 1491 FHiHh 305 ERFER-TH 1K T =
AR 1491 FHh 306 TSR _-TH 1 % 8 2
R 1491 b 307 ERFETH O O1LE 9 =
AR 1491 FHh 308 FRFHE-TH 1 % 10 =
R 1491 FHh 309 FRIFRTH 1 & 11 2
AR 1491 FHh 310 FRFER-TH 1 & 12 =
R 1491 FHh 311 ERFETH 1 EF 13 =
AR 1491 FHh 312 ERIFHE-TH 1 F 14 =
R 1491 FHh 313 ERFETH 1 F 15 =
AR 1492 FHh 17 ERFHENUTH 6 & 21 =
R 1492 % 19 ERIFAMTH 6 & 16 2
R 1492 — 21 ETHRSFRMTH 6 F 11 =
R 1492 FHh 21 FRIFHAMTH 6 & 11 2
AR 1492 FHh 29 ERFHENUTHE 4 &% 24 =
R 1492 % Hh 33 FRIFRMTH 4 & 28 2
HEieF 1492 FKih 37 HFRFHRNUTH 4 F 32 -2
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R 1492 FHh 39 FRIFRMTH 4 & 35 2
AR 1492 FHh 41 FRFHENUTH 4 % 36 =
R 1492 FHh 43 FRIFHAMTH 4 & 40 2
AR 1492 FHh 46 FRFHENUTH 4 &% 19 =
R 1492 % 48 FRIFAMTH 4 & 18 2
AR 1492 FHh 50 FRFHENTE 4 & 15 =
RS 1492 — 65 FHESFHRIM T H 3 & 21 2
AR 1492 FHh 65 FRFHENUTH 3 & 21 =
R 1492 % 73 ERIFAMTH 3 & 29 2
AR 1492 FHh 75 ERFHENTE 3 & 35 =
R 1492 % 80 ERIFAMTH 3 & 16 2
AR 1492 FHh 84 THRESFRMTH 3 F/F 9 2
T 1492 FHh 86 ERIFRAMTH 3 & 7 2
AR 1492 FHh 90 THRSFRMTH 3 F/F 4 2
R 1492 FHh 92 FRIFHAMTH 3 & 36 2
AR 1492 FHh 93 FRFHENTE 6 & 23 =
R 1492 FHh 96 FERIFHRMTH 5 & 15 2
AR 1492 FHh 96 FRFHENTE 5 & 17 =
R 1492 FHh 98 FERIFARMTH 5 & 23 2
AR 1492 FHh 100 FRFHENUTH 5 & 24 =
R 1492 FHh 102 FRIFRMTH 5 & 28 2
AR 1492 FHh 107 ERFENUTHE 2 & 24 =
R 1492 FHh 113 FERIFRMTH 2 & 7 2
AR 1492 FHh 115 ERFENUTEH 2 & 39 =
R 1492 % 120 FERIFRMTH 2 & 15 =
AR 1492 FHh 122 THESFRMTH 2 F 13 =
R 1492 % 124 FRIFAMTH 2 & 12 =
AR 1492 FHh 133 THESFRMTH 1 F 17 =
R 1492 % 133 FRIFAMTH 1 & 17 =
AR 1492 FHh 133 (2025) | F#~FRMUTH 1 & 17 =
R 1492 FHh 133 FRIFAMTH 1 & 17 5
AR 1492 FHh 135 FRFHENUTHEH 1 & 20 =
R 1492 % Hh 139 FRIFAMTH 1 % 24 5
HEieF 1492 FKih 141 FRSFRNTH 1 & 27 -2
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R 1492 FHh 145 ERIFAMTH 1 & 29 2
AR 1492 FHh 146 FRFENTE 1 & 15 =
R 1492 FHh 148 FRFAMTH 1 % 11 2
AR 1492 FHh 150 THRSFRMTH 1F/F 9 2
R 1492 % 152 FERIFAMTH 1 % 7 2
AR 1492 FHh 156 THESFRMTH 1% 5 2
R 1492 % 158 FRIFAMTH 1 & 2 2
AR 1492 FHh 160 FRFENTE 1 & 33 =
R 1492 % 162 ERIFAMTH 2 & 1 2
AR 1492 FHh 164 FRFHENUTH 2 & 40 =
R 1492 % 170 EFRIFRTH 7% 14 2
AR 1492 FHh 172 FRFER_-TH 7T % 17 =
T 1492 FHh 172 ERIFR-TH 7 F 17 2
AR 1492 FHh 174 FRFHER-TH 7% 19 =
R 1492 FHh 176 ERIFRTH T & 2 2
AR 1492 FHh 178 FHRFHR_TH 7T & 22 =
R 1492 FHh 180 ERIFRTH 7 %F 23 2
AR 1492 FHh 183 TSR _-TH 7% 3 2
R 1492 i 187 ERFER-TH T & 5 =
AR 1492 FHh 189 TSR _TH 7 % 8 2
R 1492 FHh 198 ERIFHAMTH 5 & 9 2
AR 1492 FHh 200 THREFHR_-TH 7 % 18 =
R 1492 FHh 209 FERIFARMTH 5 & 27 2
AR 1492 FHh 213 THESFRMTH 1% 5 2
R 1492 % 213 ERIFARAMTH 1 % 5 5
AR 1492 FHh 218 ERFHETH 6 F 37 =
R 1492 % 220 ERFETH 6 F 39 =
AR 1492 FHh 222 ERFHETH 6 F 41 =
R 1492 % 224 ERFETH 6 &F 51 =
AR 1492 FHh 226 ERFHETH 6 F 52 =
R 1492 FHh 228 ERFETH 6 & 45 =
AR 1492 FHh 232 THREFHR_TH 6 & 53 =
R 1492 % Hh 236 ERFHETH 6 F 54 2
T 1492 FHh 238 FHRFHER_TH 6 & 57 2
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R 1492 FHh 242 FRIFRTH 6 & 47 2
AR 1492 FHh 246 FRFHE-TH 6 &% 29 =
R 1492 FHh 249 ERIFRTH 6 & 36 2
AR 1492 FHh 251 ERFHENTE 6 & 18 =
R 1492 % 251 ERIFAMTH 6 & 19 2
AR 1492 FHh 254 ERFHENUTH 5 % 36 =
R 1492 % 259 ERIFR-TH 6 & 27 2
AR 1492 FHh 262 FRFHENUTH 5 & 30 =
R 1492 % 263 FRFARMTH 5 & 35 2
AR 1492 FHh 276 FRFHENUTEH 6 & 4 =
R 1492 % 277 FRIFAMTH 6 & 29 2
AR 1492 FHh 278 ERFHENTE 6 & 35 =
T 1492 FHh 279 ERIFHAMTH 6 & 36 2
AR 1492 FHh 280 THESFRMTH 7T F®% 7 2
R 1492 FHh 281 FERIFRMTH 7 % 5 2
AR 1492 FHh 286 ERFHENUTH 6 & 46 =
R 1492 FHh 287 ERFHAMTH 6 & 50 2
AR 1492 FHh 288 ERFHENTE 6 & 33 =
R 1492 FHh 289 FERIFRAMTH 7 %F 23 2
AR 1492 FHh 290 FRFENTE 7 % 25 =
R 1492 FHh 291 ERIFRMTH 7 & 26 2
AR 1492 FHh 293 FRFENUTHEH 7% 29 =
R 1492 FHh 295 FRIFAMTH 7 & 10 2
AR 1492 FHh 298 FRFENUTHEH 7% 19 =
R 1492 % 299 FRIFAMTH 7 %F 21 =
AR 1492 FHh 300 THESFRIMTH 8 F 22 =
R 1492 % 302 ERIFAMTH 8 & 18 =
AR 1492 FHh 305 THESFRIMTH 8 & 25 =
R 1492 % 307 ERIFAMTH 3 & 17 =
AR 1492 FHh 318 ERFE-THE 1 % 33 =
R 1492 FHh 319 ERFR=ETH 1 & 34 5
AR 1492 FHh 320 FRFHER-TH 1 & 35 =
R 1492 % Hh 321 EHRFHRETH 1 & 37 5
P 1492 FKih 322 FTIRFHR-TH 2 & 3 -2
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R 1492 FHh 323 ERIFR=TH 2% 9 2
AR 1492 FHh 324 ERSFR=TH 2 % 2 2
R 1492 FHh 325 FRIFR=TH 2 % 10 2
AR 1492 FHh 326 ERSFR=TH 2% 1 2
R 1492 % 327 FRIFR=TH 2 % 21 2
AR 1492 FHh 327 FRFHER-TH 2 % 21 =
R 1492 % 328 FRIFR=TH 2 % 24 2
AR 1492 FHh 329 TRFHE-TH 2 % 26 =
R 1492 % 330 ERIFR=TH 2 % 28 2
AR 1492 FHh 331 FRFHE-TH 2 % 29 =
R 1492 % 332 ERIFR=TH 2 % 33 2
AR 1492 FHh 333 TRFHE-TH 2 % 19 =
T 1492 FHh 334 ERIFR=TH 2 % 16 2
AR 1492 FHh 335 TRFHE-TH 2 % 14 =
R 1492 FHh 336 FRIFR=TH 2 % 13 2
AR 1492 FHh 337 FRFHE-TH 2 F 34 =
R 1492 FHh 338 FRIFR=TH 3 & 30 2
AR 1492 FHh 339 ERSFR=TH 3% 5 2
R 1492 FHh 340 ERIFR=TH 3 & 28 2
AR 1492 FHh 341 ETRSFR=TH 3% 7 2
R 1492 FHh 342 ERIFR=TH 3 & 26 2
AR 1492 FHh 343 TSR =TH 3 & 9 2
R 1492 FHh 345 ERIFR=TH 3 & 10 2
AR 1492 FHh 346 FRFHER-TH 3 & 22 =
R 1492 % 347 EHRFR=ETH 3 & 12 5
AR 1492 FHh 348 ERFR-TH 3 % 21 =
R 1492 % 349 EHRFR=TH 3 % 13 5
AR 1492 FHh 350 ERFE-TH 3 % 20 =
R 1492 % 351 EHRFHR=ETH 3 % 16 5
AR 1492 FHh 352 ERFE-TH 3 % 18 =
R 1492 FHh 353 EHRFR=ETH 4 % 6 5
AR 1492 FHh 354 ETRSFR=TH 4 % 8 2
R 1492 % Hh 355 EHRFR=ETH 4 % 10 5
AR 1492 356 EFR=TH 4 & 11 2
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R 1492 FHh 357 FRIFR=TH 4 F 12 2
AR 1492 FHh 358 FRFHE-TH 4 F 14 =
R 1492 FHh 359 FRIFR=TH 4 %F 15 2
AR 1492 FHh 360 FRFHE-TH 4 % 16 =
R 1492 % 361 EFRIFR=TH 4 %& 1 2
AR 1492 FHh 362 FRFHE-TH 4 F 29 =
R 1492 % 364 ERIFR=TH 4 % 20 2
AR 1492 FHh 365 FRFHER-TH 4 % 25 =
R 1492 % 366 FRIFR=TH 4 % 24 2
AR 1492 FHh 367 FRFHERETH 4 F 22 =
R 1492 % 369 ERIFR=TH 5 & 34 2
AR 1492 FHh 370 FRFHE-TH 5 & 31 =
T 1492 FHh 372 EFRIFR=TH 5 & 29 2
AR 1492 FHh 373 FRFHR-TH 5 & 27 =
R 1492 FHh 375 ERIFR=TH 5 & 25 2
AR 1492 FHh 377 TSR =TH 7% 9 2
R 1492 FHh 378 FRIFR=TH 3 & 4 2
AR 1492 FHh 380 FRFHER-TH 5 & 32 =
R 1492 FHh 381 FRIFAMTH 4 %F 23 2
AR 1492 FHh 388 ERSFR_-TH 7T F 2 2
R 1492 FHh 395 ERFHAMTH 6 & 39 2
AR 1492 FHh 397 FRFHENTH 6 & 40 =
R 1492 FHh 398 FRIFAMTH 6 & 41 2
AR 1492 FHh 401 FRFHENUTH 6 & 14 =
R 1492 % 411 EHRFRETH 4 % 7 5
AR 1492 FHh 412 ERFHE-TH 7% 13 =
R 1492 % 415 ERFETH O OT E 26 =
AR 1492 FHh 416 ERSFR_TH 7T %/ 4 2
R 1492 % 420 FRIFRMTH 4 %F 37 =
AR 1492 FHh 421 THRSFRMTH 4 F 39 =
R 1492 i 424 ERFER-TH O OTE T =
AR 1492 FHh 425 TRFHR-TH 5 & 26 =
R 1492 % Hh 4217 FRIFAMTH 3 & 12 5
HEieF 1492 FKih 428 HFIRFHNUTH 3 F 14 -2
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R 1492 FHh 429 FRIFAMTH 3 & 13 2
AR 1492 FHh 430 FRFHENUTH 3 & 11 =
R 1492 FHh 432 FRIFAMTH 2 & 23 2
AR 1492 FHh 433 FRFHENUTH 2 & 21 =
R 1492 % 434 FRIFAMTH 2 & 20 2
AR 1492 FHh 436 FRFHENUTH 2 & 16 =
R 1492 % 437 FRIFRTH 6 & 46 2
AR 1492 FHh 441 FRFENTE 3 & 15 =
R 1492 % 444 ERIFAMTH 2 & 33 2
AR 1492 FHh 445 FRFENUTHE 2 & 34 =
R 1492 % 446 ERIFRMTH 2 & 35 2
AR 1492 FHh 447 ERFHENUTH 2 & 36 =
T 1492 FHh 450 FRIFAMTH 2 & 4 2
AR 1492 FHh 451 THESFRMTH 2 F 03 2
R 1492 FHh 453 FERIFRMTH 2 & 28 2
AR 1492 FHh 454 FRFENUTHE 2 & 29 =
R 1492 FHh 455 FRIFRAMTH 2 & 30 2
AR 1492 FHh 456 FRFHENUTH 2 & 11 =
R 1492 FHh 457 ERIFR=TH 5 & 23 2
AR 1492 FHh 459 FRFHER-TH 5 & 33 =
R 1492 FHh 460 ERIFRMTH 3 & 25 2
AR 1492 FHh 461 FRFHENTE 3 & 28 =
R 1492 FHh 462 FRIFR-TH 6 & 28 2
AR 1492 FHh 463 FRFHENUTH 3 & 26 =
R 1492 % 464 FERIFRMTH 3 & 27 =
AR 1492 FHh 465 THESFRIMTH 3 % 5 2
R 1492 % 468 ERFETH 6 & 28 =
AR 1492 FHh 468 (105%5) | EHEFH _-TH 6 & 28 =
R 1492 % 468 ERFETH 6 & 28 =
AR 1492 FHh 469 THRSFRMTH 6 F/F 9 2
R 1492 FHh 470 ERIFRMTH 6 & 8 =
AR 1492 FHh 471 THRSFRMTH 6 F 4 )
R 1492 % Hh 472 ERIFARAMTH 6 & 7 =
HEieF 1492 FKih 473 HFIEFHINUTH 6 &F 6 -2
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R 1492 FHh 474 ERFARMTH 6 & 5 2
AR 1492 FHh 483 FRFER_-TH 7T & 12 =
R 1492 FHh 484 EFRIFRTH 7T %F 11 2
AR 1492 FHh 486 TRFHER_TH 6 & 32 =
R 1492 % 487 EFRIFRTH 6 % 31 2
AR 1492 FHh 488 FRFHE_TH 6 F 30 =
R 1492 % 490 ERIFAMTH 4 & 26 2
AR 1492 FHh 491 FRFRENTE 4 & 27 =
R 1492 % 492 FRIFAMTH 6 % 31 2
AR 1492 FHh 493 FRFHENUTH 6 & 30 =
R 1492 % 494 ERIFRMTH 4 & 33 2
AR 1492 FHh 495 FRFENUTHE 4 & 34 =
T 1492 FHh 496 EFRIFR=TH 4 %& 3 2
AR 1492 FHh 498 FRFHE-TH 4 F 30 =
R 1492 FHh 499 FRIFAMTH 1 & 20 2
AR 1492 FHh 501 FRFHETH 6 F 4 =
R 1492 FHh 502 FRIFRMTH 7 %F 22 2
AR 1492 FHh 503 FRFHE-TH 5 % 30 =
R 1492 FHh 504 FRIFAMTH 6 % 51 2
AR 1492 FHh 505 FRFHER-TH 3 % 23 =
R 1492 FHh 508 ERIFAMTH 8 & 26 2
AR 1492 FHh 511 FHRFHR_TH 6 & 43 =
R 1492 FHh 512 ERIFRTH 6 & 40 2
R 1492 — 515 ERFE-TH 6 % 33 =
R 1492 % 516 ERFETH 6 F 34 =
AR 1492 FHh 517 ERFHETH 6 F 35 =
R 1492 % 518 ERIFRMTH 2 & 38 =
AR 1492 FHh 519 THESFRMTH 2 F 32 =
R 1492 % 520 FRIFAMTH 2 % 31 =
AR 1492 FHh 521 THRSFRMTH 2 F 10 =
R 1492 FHh 522 ERIFRMTH 2 & 8 =
AR 1492 FHh 524 ERFHENUTH 6 & 26 =
R 1492 % Hh 525 ERIFHRMTH 6 & 25 5
HEieF 1492 FKih 526 HFIEFHNUTH 6 F 24 -2
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R 1492 FHh 530 FRIFAMTH 4 %F 21 2
AR 1492 FHh 531 FRFENTE 4 & 22 =
R 1492 FHh 532 EFRIFAMTH 4 & 1 2
AR 1492 FHh 533 FRFENTE 4 & 43 =
R 1492 % 535 FRIFHAMTH 5 & 20 2
AR 1492 FHh 536 FRFHENUTH 5 & 21 =
R 1492 % 537 FRIFRMTH 6 & 22 2
AR 1492 FHh 538 FRFHENUTH 6 & 20 =
R 1492 % 539 FRIFAMUTH 4 & 4 2
AR 1492 FHh 540 THESFRMTH 4 % 2 2
R 1492 % 541 FRIFAMTH 4 & 5 2
AR 1492 FHh 543 FRFHENUTH 4 & 11 =
T 1492 FHh 544 FRIFRMTH 4 & 7 2
AR 1492 FHh 545 THRSFRMTH 4 3% 6 2
R 1492 FHh 553 FRIFAMTH 1 & 23 2
AR 1492 FHh 563 FRFENTE 1 & 13 =
R 1492 FHh 564 ERIFARMTH 3 & 37 2
AR 1492 FHh 565 THESFRIMTH 3 & 2 2
R 1492 FHh 566 ERIFAMTH 3 & 3 2
AR 1492 FHh 567 THRSFRMTH 3 F/F 1 2
R 1492 FHh 569 ERIFHAMTH 8 & 19 2
AR 1492 FHh 570 FRFHENTEH 8 & 20 =
R 1492 FHh 571 FRIFHRAMTH 8 & 24 2
AR 1492 FHh 572 FRFHENUTH 1 & 26 =
R 1492 % 573 FRIFAMTH 1 & 28 =
AR 1492 FHh 576 ERFHE-TH 6 F 56 =
R 1492 % 579 FRFAMTH 6 & 45 =
AR 1492 FHh 580 THRSFRMTH 2 F 26 =
R 1492 % 580 FRIFRAMTH 2 & 26 =
AR 1492 FHh 581 THESFRMTH 2 F 27 =
R 1492 FHh 583 ERIFRMTH 5 & 8 =
AR 1492 FHh 584 ERFHENTE 5 & 25 =
RS 1492 — 586 FAHESFHRIM T H 5 & 22 2
HEieF 1492 FKih 588 FIRFHMUNTH 3 F 31 -2
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R 1492 FHh 589 FRIFAMTH 3 & 32 2
AR 1492 FHh 590 ERFHENTE 3 & 33 =
R 1492 FHh 592 ERIFR=TH 7% 11 2
AR 1492 FHh 593 FRFHE=TH 7% 10 =
R 1492 % 594 ERIFR=TH 17 % 8 2
AR 1492 FHh 595 TSR =TH 7% 6 2
R 1492 % 596 ERIFR=TH 7% 5 2
AR 1492 FHh 597 FRFHENUTH 3 & 30 =
R 1492 % 598 FRIFAMTH 6 & 34 2
AR 1492 FHh 615 FRFHENTE 6 & 15 =
R 1492 % 616 FERIFRMTH 6 & 12 2
AR 1492 FHh 617 FRFHENTE 6 & 13 =
T 1492 FHh 618 FERIFAMTH 6 & 32 2
AR 1492 FHh 622 FRFENTE 7 F& 27 =
R 1492 FHh 622 ERIFRMTH 7 F 27 2
AR 1492 FHh 623 FRFENTE 7 % 28 =
R 1492 FHh 627 FRIFAMTH 4 F 17 2
AR 1492 FHh 628 ETRSFR=TH 3 % 3 2
R 1492 i 629 ERFETH T EH 6 =
AR 1492 FHh 630 FRFENUTEH 4 & 29 =
R 1492 FHh 632 FRIFHAMTH 1 % 31 2
AR 1492 FHh 634 FRFHENUTEH 4 & 30 =
R 1504 &t 3 FRFHRAMTH 8 & 10 2
R 1504 & Hh 8 THESFRIMTH 8 & 7 2
R 1504 FHh 10 ERIFAMTH 8 & 4 2
AR 1504 FHh 12 FRFHENTE 6 & 53 =
R 1504 FHh 14 FERIFRMTH 8 & 27 2
AR 1504 FHh 14 ERFENTE 8 & 27 =
R 1511 FHh ERIFR=TH 8 & 1 2
AR 1514 FHh ERSFR=TH 8 % 8 2
R 1542 FHh 1 FRIFR=TH 1 & 40 2
AR 1542 FHh 3 FRFHER-TH 1 & 38 =
R 1556 & Hh 3 FERFRMTH 5 & 33 2
P 1556 & 7 FIEFHRINUTH 5 & 32 -2
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R 1556 & Hh 13 FERIFAMTH 5 & 31 2
R 1604 FHh 6 TRFR—TH 5 & 27 =
R 1604 FHh 10 ERIFR-TH 5 & 24 2
AR 1604 FHh 11 THESFR—TH 5 & 23 =
R 1604 FHh 12 ERIFR-TH 5 & 22 2
AR 1604 FHh 15 THESFR—TH 5 %/ 9 =
R 1604 FHh 16 ERIFR-TH 5 & 11 2
AR 1604 FHh 17 THESFR—TH 5 & 12 =
R 1604 FHh 18 ERIFR-TH 5 & 14 2
AR 1604 FHh 19 THESFR—TH 5 %/ 6 =
R 1604 FHh 20 ERIFRK-TH 5 & 3 2
AR 1604 FHh 21 THESFR—TH 5 & 2 =
T 1604 FHh 22 FERIFR—-TH 5 & 15 2
RS 1604 it 23 ERFE—-TH 4 % 19 - 101 5
R 1604 FHh 23 ETRSFR-TH 4 % 19 - 201 &
AR 1605 #Hh FRFHE—-TH 4 % 14 - 102%
R 1606 #Hh 2 FRIFR-TH 4 % 11 2
R 1608 & Hh 2 FRFR—TH 5 & 43 =
R 1609 FHh 5 TSR —-TH 4% 14 - 1015
AR 1609 FHh 40 THRSFR—TH 3 F 1 =
R 1609 FHh 40 ERIFR—-TH 3 & 2 2
AR 1609 & Hh 42 THESFR—TH 3 F 39 =
R 1609 FHh 44 ERIFR—-TH 3 & 36 2
AR 1609 & Hh 45 THRSFR—TH 3 F 11 =
R 1609 FHh 46 ERIFR-TH 2 & 3 2
AR 1609 & Hh 47 TRSFR—TH 2 F/F 9 =
R 1609 FHh 48 ERIFR-TH 2 & 11 2
AR 1609 & Hh 49 THRESFR—TH 2 F 12 =
R 1609 FHh 50 ERIFR-TH 2 % 14 2
AR 1609 & Hh 54 THESFR—TH 2 F 43 =
R 1609 FHh 55 ERIFRA-TH 2 & 41 2
AR 1609 & Hh 56 THESFR—TH 2 F 20 =
R 1609 FHh 58 ERIFR—-TH 2 & 7 2
FAR T 1609 & Hh 60 THRSFR—TH 1% 5 2
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R 1609 FHh 61 ERIFR-TH 1 & 7 2
AR 1609 FHh 62 THRESFR—TH 1 F 12 =
R 1609 FHh 65 ERIFR-TH 1 %& 13 2
AR 1609 FHh 66 THESFR—TH 1 % 18 =
R 1609 FHh 67 ETRIFR-TH 1 & 20 2
AR 1609 & Hh 69 THESFR—TH 3 %/ 26 =
R 1609 FHh 70 ERIFR-TH 3 & 23 2
AR 1609 & Hh 71 THESFR—TH 2 F 25 =
R 1609 FHh 72 ERIFR-TH 2 F& 27 2
AR 1609 & Hh 74 THESFR—TH 2 %F 33 =
R 1609 FHh 76 FRIFRK-TH 1 & 1 2
AR 1609 FHh 78 THRSFR—TH 1 F 1 =
T 1609 FHh 79 ERIFR-TH 1 & 9 2
AR 1609 FHh 83 THESFR—TH 3 % 3 =
R 1609 FHh 90 ERIFR—-TH 3 & 35 2
AR 1609 FHh 91 THESFR—TH 3 % 33 =
R 1609 FHh 92 ERIFR-TH 2 & 10 2
AR 1609 FHh 93 THRSFR—TH 2 % 8 =
R 1609 FHh 95 ERIFR-TH 2 & 40 2
AR 1609 FHh 97 THESFR—TH 1 %/ 6 =
R 1609 FHh 98 ERIFR-TH 1 % 3 2
AR 1609 & Hh 99 THESFR—TH 2 F 39 =
R 1609 FHh 100 ERIFR—-TH 2 % 38 2
AR 1609 & Hh 102 THRSFR—TH 1 F 21 =
R 1609 FHh 103 ERIFR-TH 2 & 18 5
AR 1609 & Hh 104 THESFR—TH 2 F 16 =
R 1609 FHh 107 ERIFR-TH 1 & 19 5
AR 1609 & Hh 108 THRSFR—TH 1 % 17 =
R 1609 FHh 109 ERIFR-TH 1 % 16 5
AR 1609 & Hh 110 THESFR—TH 2 % 13 =
R 1609 FHh 114 ERIFRK-TH 1 % 8 =
AR 1609 & Hh 115 THRSFR—TH 2 F 4 =
R 1609 FHh 117 FRIFR-TH 1 % 14 5
P 1609 K ih 118 FIRFHR—TH 1 & 15 -2
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R 1609 FHh 121 ERIFR-TH 2 & 45 2
AR 1609 b 122 THESFR—TH 2 F 46 =
R 1609 FHh 123 FRIFR-TH 2 & 47 2
AR 1609 b 124 THRSFR—TH 2 F 48 =
R 1609 FHh ERIFR-TH 3 & 41 2
FRFHOT—TH 3 FH EIRFETH 6 & 24 2
ERSEHT—TH 4 BH ERFR-TH 6 & 22 2
FRFHUT—TH 5 FH ERFRTH 6 F 21 2
ERSFHT—TH 6 BH ERFR-TH 6 & 19 2
ERRSFET—TH 14 FM ERSFR_TH 6 F&F 14 101 %5
FARSEHIT—TH 14 &M FRIFRTH 6 & 14 102 5
ERRSFET—TH 14 FM ERSFR_TH 6 &% 14 201 ¥
FARSEHIT—TH 14 &M EFRIFRTH 6 & 14 202 &
ERRSFHET—TH 16 &M (1015 [EF4eF R —TH 6 & 13 101 %5
FARSEHIT—TH 16 & EFRIFRTH 6 & 13 201 &
ERRSFHET—TH 16 &M TSR _-TH 6 & 13 202 %
FARSEHIT—TH 18 & EFRIFRTH 6 & 10 102 5
ERSFHET—TH 18 &Ml (1035 [EHeFH—_TH 6 & 10 103 %5
FARSEHIT—TH 18 & EFRIFRTH 6 & 10 201 &
ERSFHET—TH 18 &Ml Qo2 [EHRFHR_TH 6 & 10 202 %
ERSEHT T H 27 B ERFRZTH 4 % 29 2
ERSFHET—TH 28 &M ERSFR_TH 4 % 30 2
ERSEHT—TH 31 B ERFR-TH 4 % 24 2
ERSFHET—TH 33 &M TSR _-TH 4 % 15 2
FARSEHIT—TH 36 &l FRIFRTH 4 % 13 2
EIRSFET T H 37 &M ETRSFR_TH 4 % 12 2
FARSEHIT—TH 40 & EFRIFRTH 4 %F 34 2
ERRSFET T H 41 &M TSR _-TH 4 % 35 2
FARSFHIT—TH 43 & FRIFRTH 4 % 36 2
ERRSFET T H 44 FM TSP _TH 4 % 37 2
ERSFHT—TH 45 BH ERFR-TH 4 % 38 2
FRSPET T H 48 &M ERSFR_-TH 5 % 1 2
ERSEHNT T H 50 FHb ERFHR_-TH 5 & 37 2
FRSFET T H 52 &M TSP _TH 5 % 36 2
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ERRSEHT—T H 53 B ERFR_TH 5 % 35 2
ERSFET—TH 54 &M TSP _-TH 5 % 33 2
ERRSEHT—T H 55 HH ERFR-TH 5 F 32 2
ERRSFHET—TH 60 M TSR _TH 5 % 28 2
ERSFHNT T H 61 B ERFR_-TH 5 F 27 2
ERRSFET—TH 62 &M ERSFR _TH 5 % 26 2
FARSEHIT—TH 64 & 210 FRIFR-TH 5 & 18 210 &
ERRSFHET—TH 64 &M TSP _-TH 5 % I8 102 %5
FARSEHIT—TH 64 & FRIFR-TH 5 & 18 105 5
ERRSFHET—TH 64 &M TSR _-TH 5 % I8 106 5
FARSEHIT—TH 64 & FRIFR-TH 5 & 18 107 5
ERRSFHET—TH 64 &M TSR _TH 5 % I8 108 5
FARSEHIT—TH 64 &M ERIFRTH 5 & 18 110 5
ERRSFHET—TH 64 &M TSR _TH 5 % I8 201 ¥
FARSEHIT—TH 64 &M FERIFRTH 5 & 18 202 &
ERRSFHET—TH 64 &M TSR _TH 5 % I8 203
FARSEHIT—TH 64 &M FRIFRTH 5 & 18 205 &
ERRSFHET—TH 64 &M TSR _TH 5 % 18 206 ¥
FARSEHIT—TH 64 &M FRIFRTH 5 & 18 207 &
ERRSFHET—TH 64 &M (085 [EFHeFHR_TH 5 & 18 208 7
ERSEHT—TH 72 B ERFR-TH 5 % 15 2
ERRSFET—TH 73 &M ERSFR_TH 5 % 14 2
ERSEHT—TH 77T B ERFR-TH 5 % 10 2
ERSFET—TH 78 &M TSR _-TH 5% 9 2
ERSEHT—TH 79 B ERFR_-TH 5 % 8 2
ERSFET—TH 82 &M ERSFR_-TH 5 & 2 103 %5
FARSEHIT—TH 82 & ERIFRK-TH 5 & 2 205 5
ERSFET—TH 87 &Ml TSR _-TH 3 F 17 2
FARSEHIT—TH 88 & ERIFR-TH 3 & 18 2
ERSFHET—TH 89 &Ml ETRSFR_TH 3 %&F 20 2
FARSFHT—TH 90 &l ERIFRK-TH 3 & 7 101 5
FRRSFET T H 90 &M TSR _-TH 3% 7 102 %5
FARSFHIT—TH 90 &l ERIFR-TH 3 & 7 103 5
FRRSFHET T H 90 &M TSR _-TH 3% 7 201 %
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FARSFHT—TH 90 &l (025 | ERIFHR-TH 3 & 7 202 &
ERRSFHET—TH 90 &M QO3F)[EHFHR_TH 3 & 7 203 ¥
FARSFHT—TH 90 &l ERIFRK-TH 3 & 7 205 &
ERSFET—TH 92 &M TSR _TH 3 % 4 2
FARSEHIT—TH 93 &l EFRIFRTH 3 & 21 2
ERSFHET—TH 95 &M ERSFR_TH 3% 1 2
ERRSFHT—TH 95 FH ERFR-TH 3% 2 2
ERSFHET—TH 95 &M TSR _-TH 3 % 3 2
FARSEHT—TH 95 & FRIFRTH 3 & 24 202 &
ERSFHET—TH 95 &M QO3F)[EHRFHR_TH 3 & 24 203 ¥
FARSEHIT—TH 95 &M FRIFRTH 3 & 24 204 &
ERSFET—TH 95 &M ETRSFR_TH 3 % 24 205 ¥
FARSEHIT—TH 95 & EFRIFRTH 3 & 24 206 5
ERSFET—TH 95 &M ETRSFR_TH 3 % 24 301 %
FARSEHT—TH 95 & (02 | ERFH -TH 3 F 24 302 &
ERSFET—TH 95 &M ETRSFR_TH 3 % 24 303
FARSEHIT—TH 95 & FRIFRTH 3 & 24 304 &
ERSFET—TH 95 &M ERSFR_TH 3 % 24 401 ¥
FARSEHIT—TH 95 & FRIFRTH 3 & 24 402 &
ERSFET—TH 95 &M ETRSFR_TH 3 % 24 403 ¥
FARSEHIT—TH 95 & EFRIFRTH 3 & 24 404 &
ERSFET—TH 95 &M ETRSFR_TH 3 % 24 405 ¥
FARSEHIT—TH 95 & EFRIFRTH 3 & 24 406
FRFHOTTH 4 B EHFHR=TH 6 & 25 2
BRI T H T KM ERFR=TH 6 & 30 2
FRFHOTTH 9 FH EHFHR=TH 6 & 38 2
ERIFHT T H 9 FHb ERFR=TH 6 F 17 2
FRFHOTTH 9 FH ERFE=TH 6 % 19 2
ERIFHT T H 10 FHb ERFR=TH 6 & 20 2
ERESERET T H 13 M ERSFR=TH 6 & 23 2
ERRIHT T H 13 KM ERFR=TH 6 & 22 2
FRTHET T H 16 & ERSFR=TH 6 & 12 101 %5
FHRFFT T H 16 FHh FRIFR=TH 6 & 12 102 5
FRTHET T H 16 & (1035 [F4eF R =TH 6 & 12 103 %5
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FHRFFT T H 16 FH EFRIFR=TH 6 & 12 105 5
ERSFHET T H 16 &M ERSFR=TH 6 & 12 106 5
FHRFFT T H 16 FH FRIFR=TH 6 & 12 201 &
ERSFHET T H 16 &M ERSFR=TH 6 & 12 202 ¥
FHRFFT T H 16 FH FRIFR=TH 6 & 12 203 &
ERRSEHET T H 16 &M ERSFR=TH 6 & 12 205 ¥
FHRFFT T H 16 FH FRIFR=TH 6 & 12 206 5
ERSEET T H 17 M ERSFR=TH 6 &% 1 101 %5
ERIHT T H 1T FH ERFR=TH 6 & 1 103 5
ERSEET T H 17 M ERSFR=TH 6 &% 1 105 %5
FHRFFT T H 17 FH Q01| EHRFH-TH 6 F 1 201 5
ERSEET T H 17 M ERSFR=TH 6 &% 1 202 %
FHRFFT T H 17 FH FRIFR=TH 6 & 1 205 &
ERESFRET T H 20 ERSFR=TH 6 &% 3 2
ERRIEHT T H 21 KM ERFR=TH 6 % 7 2
ERSEET T H 24 M ETRSFR=TH 5 & 22 101 %5
FHRFFT T H 24 FH ERIFR=TH 5 & 22 102 5
ERSEET T H 24 M ETRSFR=TH 5 & 22 202 %
FHRFFMT T H 25 i EFRIFR=TH 5 & 19 2
ERSERET T H 26 M ERSFR=TH 5 % 15 2
FHRFFT T H 28 i ERIFR=TH 5 & 14 2
ERSEHET T H 29 ERSFR=TH 5 & 12 2
ERRIEHT T H 31 KM ERFHR=TH 5 % 35 2
ERESERET T H 32 M ETRSFR=TH 5 % 36 2
FHRFFT T H 33 FHh FERIFR=TH 5 & 38 2
ERESERET T H 34 M TSR =TH 5 & 39 2
FHRFFMT T H 35 i FRIFR=TH 5 & 40 2
ERESERET T H 36 &M ERSFR=TH 1 % 32 2
FARFFT T H 38 i FRIFR=TH 1 % 24 2
ERESERET T H 39 M ERSFR=TH 1 % 23 2
ERRIEHT T H 41 B ERFR=THE 1 & 4 2
FARTHET T H 43 &M ETRSFR=TH 1 & 20 2
ERRSEHT TH 45 &b ERFR=TH 1 & 19 2
FRTHET T H 46 &M ERSFR=TH 1 & 16 2
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ERFERT T H 47 ERFR=TH 1 & 14 2
ERESERHT T H 48 M TSR =TH 1 & 44 2
ERRSFHRT T H 53 b ERFR=TH 1 & 10 2
EIRSFHET T H 54 M ERSFR=TH 1 % 7 101 %5
FHRFFMT T H 54 FH ERIFR=TH 1 & 7 102 5
EIRSFHET T H 54 M ERSFR=TH 1 % 7 103 %5
ERRSFHRT T H 55 b ERFR=TH 1 & 5 2
FRFHUT T H 57T FH FRFR=TH 1 & 2 2
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